(2).  The question to solve. 
A Company purchases wholesale, stores, and then sells at retail four different products used by customers.  These four products are Prod1, Prod2, Prod4, and Prod3.

The following tabled data is relevant:

	 
	Unit Cost
	Order Cost

($/order)
	Demand rate per year
	Storage space (Sq. ft. / unit)

	Prod1
	$3,250
	$200
	9,000
	2

	Prod2
	$4,175
	$185
	3,000
	3

	Prod3
	$1,240
	$152
	4,000
	2

	Prod4
	$2,233
	$85
	12,000
	3


The annual carrying cost is 12 percent of the unit cost and Company has only 500 square feet of floor space available.  

(a) Determine the optimal order quantities (EOQ) for these items given there is only 500 square feet of storage space.  

(b) Once the order quantities have been determined, warehouse floor space must then be partitioned into four distinct areas because of highly restrictive environmental conditions required for each item.

(c) What is the total inventory cost (holding cost + ordering cost)?

(d) What would be the savings per year if unlimited floor space was available (unconstrained)?

Solution:

	
	Prod1
	Prod2
	Prod3
	Prod4

	(a) Economic Order Quantity (EOQ)


	
	
	
	

	(b) Floor Space Required (sq. ft.)
	
	
	
	

	(c) Inventory cost (holding + ordering)
	

	(d) Savings


	


=========================================================================








EXAMPLE)) for question 2 to help you
  A space company (COMPANY) purchases wholesale, stores, and then sells at retail four different products used by astronauts and space tourists.  These four products are space helmets, space suits, space boots, and a deluxe pair of space gloves.

The following tabled data is relevant:

	 
	Unit Cost
	Order Cost**

($/order)
	Demand rate per year
	Storage space (Sq. ft. / unit)

	space suit
	$5,000
	$160
	1,000
	7

	gloves, one pair*
	$1,000
	$100
	5,000
	1

	boots, one pair*
	$2,000
	$90
	10,000
	2

	helmet
	$3,000
	$210
	8,000
	3


*NASA’s policy has been to issue several pairs to each astronaut

** Items are special ordered with very precise specifications

The annual carrying cost is 12 percent of the unit cost and COMPANY has only 500 square feet of floor space available.  

(a) Determine the optimal order quantities for these items given there is only 500 square feet of storage space..  

(b) Once the order quantities have been determined, warehouse floor space must then be partitioned into four distinct areas because of highly restrictive environmental conditions required for each item.

(c) What is the total inventory cost (holding cost + ordering cost)?

(d) What would be the savings per year if unlimited floor space was available?

Solution:

	
	space suit
	gloves, one pair
	boots, one pair
	helmet

	(a) Order Quantity


	15
	65
	62
	69

	(b) Floor Space Required (sq. ft.)
	105.
	65.
	123.
	206.

	(c) Inventory cost (holding + ordering)
	$85,630

	(d) Savings


	$5,166.24
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Use excel to evaluate as theta varies

Or use solver


� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���
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